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STy

1 YA MR 1 Sferd

1. Fdfe® “qfr” {5 avf & RS & ?

The Rigvedic “Pani” belong to which
class of citizens ?

(A) RIS/ Priests

(B) @@R/Ironsmiths

(C) F@uidR/Goldsmiths

(D) <9I/ Traders.

[MPPSC (91.) g¥et, (|1.31.) 12-01-2020]
1. (D) Fafd® “afor” ANy a°f & ARIRSG

| I IR AR A HeA™ &
O

2. Fiferent gRIVT 5 ot & wwaIfeerd & ?

With which religion is Kalika Purana
associated ?

(A) I9T@/ Vasishnavism
(B) @M/ Shaktism
(C) g/ Buddhism
(D) S/ Jainism
[MPPSC (W1.) utem, (J1.31.) 2018]

2. (B) ferdm qRIUT WIfeT &+ | |Ifera B |

S Pl GRI0T N el I & | gRIoT
H He HEaqu! 18 HeTgRT0T (SETgRIvT
YRTUT, GRTEYRIVI, HTHUSTYRIOT,
- GRIOT, STRITUSYRIOT, SHFYRIOT,
C{Z\chﬂlul HORYRTUT, TOSYRTUT %|
PICTHIYRIVT SY GRIVT HHT ST & |
TR ATBUST Bl T Seord AT
& | FIfeTd QRIVT BT e Wl b
ARIEAT B

3. fr=feRad & & P=-1 STET0T IR e

I g g ?

Which one of the following Brahmana

texts belongs to the Rigveda ?

(A) VT ST/ Aitareya Brahmana

(B) Tirael §TEIT/ Gopatha Brahmana

(C) 3uY §1&ivT/ Shatapatha Brahmana

(D) R STET0T/ Taittiriya Brahmana
[MPPSC (91.) uter, (J1.31.) 2017

3. (A) ToRY TRV ¥ ARI 9]1 B Bl B

U fear B 1 TORY S0 U B
HhAThdl Aear o | T AT Bl

T SART o1, S $9d doAd 39 U
BT A TR B AT

1. faefeed # 1 wF-w Ry wd A

QRN I ¥ T § 7
Which of the following is not a Indus
Valley Civilization site ?
(A) HreET/Kalibangan
(B) X198/Ropar
(C) drefeTgsl/Patliputra
(D) @ered/Lothal
[MPPSC (91.) 9¥e, (Jr.21.) 2013]

1. (C) UrefIga R |l AT | |wif-er

A T 5| Ry awd A @
B S TIRM A& B AT
PIATTT # BT @ 3R &SI
B FRGITAT BT JHTOT Ferar & |
AT R & S T JAH &
Ry %A1 & WE e dgd i
TEAE BT IR fHer Bl

. Rig & 9= & |ed A ffaiad

B IR IR BHITe-
Regarding the Indus Valley Civilization,

consider the following statements :

1. S B H R | O g9 H HI™

1 YIRT I T I/ During this period
cotton was used for manufacturing
textiles in India.

2. I |WIAT IR Al ARy O
o S enfifes aw, TeIft SuRkerd
ofT, el TE o/ It was

predominantly a secular civilization
and the religious element, though

present, did not dominate the scene.
ISRYFT § F DHA-AI/DH-H B qE

&/& ?/ Which of the statements given
above is/are correct ?

(A) ®aet 1/ Only 1
(B) @&det 2/Only 2
(C) 1 3R 2 |I/Both 1 and 2

(D) 1 1 R 7 & 2/ Neither 1 nor 2
[MPPSC (91.) 9<ver, (J1.31.) 2012]

2%

(C) Ry Fwran o1 w7 A FreA,
T YR TR 500-1750 . 4. B
99 5| g o1t 7 9RT A I
M & oY HU &1 YA B
T TAT S BTl B FRIAT SANfehd
T 9 1 d@ W o, feg
EEREERICHIIIS RIS

. HAreAeiee! frEfeRad 7 & w8l ) Rea

87
Mohanjodaro is situated in which of the
following ?

(A) ¥R & ORI I H/Gujarat state
of India

(B) WRT & UG Y H/Punjab state
of India

(C) wfpea™ & =1 919 #/Sindh
Province in Pakistan
(D) STHMIRA #/Afghanistan
[MPPSC (91.) 9be, (|1.31.) 2012]

3. (C) ‘wreuEsl uifhes & R g

& TR et A4 ey 78 )
Ry & | 39 ref BT A @Il
|9 1922 H RIS FI 7 DY
i

1. YRt A foos gof &1 qrefarg” 9 Par

ST o ?
In ancient period, which Varna was also
called as Sarthavaha ?
(A) 9T&IT/Brahmana
(B) &fra/Kshatriya
(C) e9/Vaishya
(D) ¥&/Shudra
[MPPSC (91.) 9<¥er, (Jr1.231.) 2018]

. (C) avfegaen fog o & wMII®

9o @1 T R 1 g w-
Tl & AR |AS Pl IR 9l H
faefor fopam T | erf3rr, ST, Ie
3R TF | IEA Fra 9w v g
B0 B PRI TG AR I T gl
of | SIRIRAE H ST Dol ALTI
AR T S| [ T A 7 07,
‘SfSs’ SR ‘wefare’ A Fe T B |

NATHT &g | 1



2. Apd At &1 yigHa e 98 gRi
gor?
From which Veda Sanskrit literature has
begun ?
(A) IJIE/Yajurveda
(B) 3rerdds/Atharvaveda
(C) \mMdE/Samveda
(D) #Jg/Rigveda
[MPPSC (91.) wiem, (|1.31.) 2013]
2. (D) TPpd Alfecd &1 TG4 Fae &R
B3N B | BT & PHAdg 9 & TGI8
P FTIG Fel Il & | T8 TG G
93 T 1 3T ST BT TSI JoTTed!
g ST M & IR H TEHGRI
e B

Bl TaTR] & g1 3l

(g e oI o)
1. 191 % 9 {59 g wifec 7 #eren 9§

o Afdes v Rgra” Fafia gaae
Apferd & ?
Which of the following Buddhist

literature contains the Buddha's sermons
on matters of ethics and doctrine ?

(A) fo1g fie®/Vinaya Pitaka
(B) II® %Y /Jataka Stories
(C) s1f¥er fied/ Abhidhamma Pitaka
(D) g fice/Sutta Pitaka
[MPPSC (91.) us¥em, (W1.31.) 2014]
1.(A) 3§ DTG S IR ST R T gg &
U B1 Hfies’ | Hahterd fam |
() fo7a ficep-zad @ aaeh
i, 3 smER-fTaR g
fafy-Feal @1\ ¥ srerfq
399 i Ta g’ dafera
Bl
(i) g few-zad dig o &
Rigd 7 gg & SU=T & I8
Bl
(iti) efe™ fiewm-3ad amite
Rigrdl &1 e ¥ |
2. ‘Taftes frefaRed # ¥ fraw Twifea
g7
'Tripitaka' is associated with which of
the following ?

(A) ST ¥/ Jains
(B) drgl ¥/Buddhists
(C) Ryl &/Sikhs

2 | AGRAWAL =XAMCART

(D) f&=g3ii ¥/Hindus
[MPPSC (91.) g¥et, (J1.81.) 2012]

2. (B) WAN g & S&cid e & 918,

SEEARCTSEANIIFANESECACER||
U9 U BT Heherd Bified &
=9 ¥ fopar | 7 Biftes B-faaa
faea, 3 fiew vd g foes |

1. AR & w=idra H 3Rie 3 srafd

HEISTIS i) AR Ty ¥ e feran
o | 3P Sl e I7e1 7 fieran & ?

Ashoka won the Avanti Mahajanpad and
merged in the Mauryan empire during

Bindusara ruled. What text does it refer

to ?

(A) §5 99 I 9 qrfad/Samand
Pasadika of Buddha Ghosh

(B) ®Ifecd BT 3FefeR=l/Arthashastra of
Kautilya

(C) dIfoTI o1 sTserearit/Ashtadhyayi of

Panini

(D) Uil T HETHTSI/Mahabhashya of
Patanjali

[MPPSC 2021 9uR-I (25-07-2021)]

. (A) ® gg O A FEd TERE H,

g ST fohaT T ® T el
q erafy eSS ST 3R
igIR & TRFEHA & SR
AR g 7 el & |

o Ul &1 | 5 gguw
Ugel IR HerT, aausfaa,
RAY S, fagfgam aiR
SFFHEF T RIDI TR < AT
P TGP T

. Tl & SR 641 3R 741 erdrear |

ey < 6 JrSrEr @ o ?

According to Chachnama, what was the
Capital of the Indus Country in the 6" and
7" century ?

(A) J@c@/Deval  (B) 3RTS/Arod
(C) @rgar/Lodawa (D) STSHR/Barmer
[MPPSC 2021 9uR-I (25-07-2021)]

2. (B) © TSI B ol AT Rig & A

I ST O 8, SR A
A—feg a1 T-Rig & w9 7
ST ST & |

© A Y 3Medl el CE #
g & sfier & 9= Ueiie
A H W UD B

° T YD BRA A H o

TE ¥ IR 3HD IR 3RS
BA SR Al I 7 g
2 Y IS A |

3. Ifaren ¥ fog 9Ne B Seaw

foueel’ vg <ammiE’ & w9 7 e
T 7
Which of the kings has been mentioned
by “Priydarshi’ and ‘Devanampriya’ in
inscriptions ?
(A) = WRI/Chandragupta Maurya
(B) emelds/Ashoka
(C) Ig=</Samudragupta
(D) ®¥aeiH/Harshavardhana

[MPPSC (91.) usiem, (¥1.31.) 2015]

3. (B) Uefga ¥ 323 3. 4. # AR 991 B

AT T[T AR ¥ B TN 59D
U SRIP T (269-232 $Y) B3
TEIRE deN WMo fogam | §7
A, Telerd qA1 Aifed § IRND
D Hei-Ppal xaHE a1 EEE
e TS | T AR AT 3R B
A H ART B (IR BRI
{ RER T o |

4. 3o A YEN FEfaRad § 9 feaw

Ffad g ?

Ajanta caves are connected with which
of the following ?

(A) XTHTIUT/Ramayana

(B) #8I¥Rd/Mahabharata

(C) ST HM/Jataka Stories

(D) U= FEIaT/Panchtantra Stories
[MPPSC (91.) 9<¥e, (J1.21.) 2012]

4. (C) o= B [HISN P FH-¢l

s BN (MTH g @ Sira
TR INYIRT) A & | I& HERTE B
JRmETE # Rerd B

1. fr=fafed # & oF-3 gas difere™

g fafad 78 & ?
Which one of the following books is not
written by Kalidasa ?

(A) W/Meghadutam
(B) @R /Kumarasambhavam
(C) SIRERTH/ Uttararamacharitam

(D) #JEeR¥/Ritusamharam
[MPPSC (91.) ustem, (¥1.31.) 2017]

1. (C) AU, AR FHIaH 3R FJHeRA



IMARTH, HeThid FaYfd 1 UG
R e &, oD < 8idy #
R & SR Sl Bl HAT i T

2. < AT R 4 9 B rfed
P g ga B SR & ?

The Gupta Empire granted tax-free
agrarian land to which of the following?

(A) I=g fereRal w1/ Military

officials
(B) fafder sif¥asRall @1/ Civil officials
(C) STEIuli ®I/ Brahmins
(D) =ERY fagT1 ®1/ Court scholars
[MPPSC (W1.) utet, (W1.31.) 2014]

2.(C) < NG S | M A

M § B! SER I STIERT o,

AR S_ IM BT fadbsieRor foba

o 3R Bl IR YA g™ B e

R &1, R ifere yardy (Imaes-

Fh<w) V&l o |
FIEII Pl PR-Xfed BN YA =™
P SI Y | ¥ BIROT A aara]
eyl B AR H FIA A
ST & |

1. <o R R 3T 6 o Far o ?

Where was the capital of Raja Veersingh
Dev ?

(A) Eﬁ’%F:ITI—c.{/Bandhavgarh

(B) TBRI/Gahora

(C) 1 & TE/Narrow ki Gardhi

(D) el #USal/Garha Mandala
[MPPSC 2021 9UR-I (25-07-2021)]

. (A) ® T THE IS GRS <9 DI
RTSTETT TaRT Y |

© TT1616 S H SIRBT (ALY
H ]IST AR W T FHHTT -
P oI ST 77Tt B

® TP IRENI Bfd HIGITH
<9 IRF"" 1607 H o7 IR R
<9 B M R fordy 18 o |

o 9R R & IRTeI § gael
IR T TIBRT B |

2. XIS 91T & 5 fa = e argr foram

o ?
The poet of King Bhoj who accepted
Jainism was :

(A) WeaTel/Granthpal
(B) Xromdret/Rajpal

(C) #fdTel/Mahipal
(D) #@-4rei/Dhanpal
[MPPSC 2021 9u=-1 (25-07-2021)]

2. (D) ® YIS XISl 49IS1 & Bid 9 4R

SR I &R Bl WIBR fhar
o |

© XIS {1 (10101055 XS TRAR
e B U o o |

© S I 1YY AR ¥ HIerar
& B STRIURNT B o |

© AN B B, e AR fasm
@ IR B o9 H ST STl & |
TG AT B T T B
0 15 R < G o = e o
Sval Bl T B

3. Fr=feRed rorga 99 3 ¥ fbw, amadi

e H, fafefet (Q&ed) 2ex &l TmaT
Pr o ?
Which of'the following Rajput dynasties

founded the city of Dhillika (Delhi) in
the eighth century ?

(A) TRER F9/Parmar dynasty

(B) Arerdr 99T/Solanki dynasty

(C) IR 991/Tomar dynasty

(D) 9@ §91/Chauhan dynasty
[MPPSC (91.) uter, (J1.31.) 2014]

3.(C) fafere! &l T dMR TMID 3T

el IR T 736 . F @ o | S
et AR & BIg v el o, 99
I AU JLARTS dIeM el &
INID 1 A1 | S B FEY fferann
BT T el TsT | el & Ha-
YA TR ARFIYRA o | 9% a8
TP M TR TS o |

I BTl d2AT <TI0 IR 5T

1. AUy fasr, Sf&wr oo & gon o I8

fo~T= et o ?

Who said that "Victory of Mandu" was
the key of victory of South" ?

(A) HAfTP BHRY/Malik Kafur
(B) e <d/Sheetal Dev
(C) TIoMe® gaam/Enulmulk Multani
(D) SRR g&RI/Amir Khusro
[MPPSC 2021 YUR-I (25-07-2021)]

. (A) ® IR GERI B TR, HG B

ST f&TOT T ST T on AN |
° IR GW 9RT & T gl
TF, Bfd AR g I 1 S=H
BRI & ArI—<ey =1 7 9

Hfaar fora |

o 98 fcell, 9RT & fomges
ANfern & TH BREE R
aneTfore fRrsg o |

© S B BT ST-Dh Bal Sl &
3R SR WRd ¥ e Bl ToTed
It o A U fka |

© 98 IeSed Raeroll & SRaN
wfa |

2. FHIE IO YR & o0 URig <rorast

2“_

Dynasty famous for efficient rural
administration was :

(A) ¥@1/Cholas

(B) <mme/Rashtrakutas

(C) =rgera/Chalukyas

(D) ueerd/Pallavas

[MPPSC (91.) a<¥er, (J1.31.) 2014]

2. (A) TIeT IR AR RIS 3T IO

T & oy URig o | alel &l
URI® Sirerd 4TH g (ARl
A $Y) | URY B B, WY
et ATy BT XTSI Sehy- AT
AT §. 7 fIormery & o1 gon
o7 | FTeT T DT HRIA THI0T YRIRI
& TTT ST ST & | A TR
T (AT aRITA gRT Harferd
BT &Y T2 A YBR BT UM FHY
i
(i) SR—EHIERY AN B IW
47 ol sFPBT BRI BIRON
ARRI—STToH e o |
(il) WERWI—Td & IR STEI0N,
97 oY |
(iii) FRH —ATAR FHITT B
affere weEqul TS q
o |

1. IR MA@ S GG 659 FHa1 S

&7

Who is called the ‘Father of Indian
Archaeology ?

(A) TAFS ST HITEH/Alexander
Cunningham

(B) it WreTed/John Marshall

(C) &R &rex/Mortimer Wheeler

(D) =g fi=9/James Prinsep
[MPPSC (91.) 9be, (|1.31.) 2017]

NATH 3egg+ | 3



1. (A) 9Rd ¥ [RIA@ 90 HRf 98

1784 % ‘TREfes |NmEd’ @
AT § YR+ o | a9 1861 H
AR QRIAE AIET0T T 9T
$ gAYl 9 S&THl A
g B2 | TeTaoiSx BI-eH B 7L
RN GRIIE HI&T0T T TBIeAT
YI=I ARBRI M1 - T8 FA&T0]
fb |

2. BRI B HoF G b ® ?
What is the total number of Sanskaras ?
(A) 10 (B) 12
©) 15 D) 16

[MPPSC (91.) get, (W1.31.) 2015]

2. (D) 999 & 9 ¥ AR GG I U

16 F¥PR G By S & e

4 | AGRAWAL =XAMCART

3 WIeTe SRBRI Bl Ui T T2l
H el B1 Y 16 SR HAY: 39
YHR — T, GHa, A,
IeIHH, P, IAUA, JIRH,
ST T 37 16 DRI GRT &
IS & X S Hl T HH (EiRa
BT 8, e g1 S9! R o
T S BT DI BN ST TSl & |

3. ey GRI RIS RISTaRA freferiad
9 s afaa e ?
‘Rajatarangini’ written by Kalhan is

associated with which of the following ?
(A) T B T 9/ Chandragupta’s

reign

(B) ¥l & Waer /Anthology of

lyrics

(C) ®R & gfUeN /History of

Kashmir

(D) HWET T & AN H/Reign of

Krishna Deva Raya

[MPPSC (91.) 9<ve, (J1.281.) 2012]
3. (C) WEPla Heavl gRI e et

HIIR B ARR 99 I T B,
o Tl $R &R wRa &
STERT Bl STFBRY fefc & | gt
ER I oI &Y @ ST wfa
9 3R S & WREV A 39 ISP
B T SR Bl | AR a9 B
I TS SaRE (1128-1155
TP) B TN GIPb A Seeiiad
a1 | IISRAO & B 9T B
SIFRTST SR #a) 5 9 foran &1

O



ST
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1. o= & i =y oIl &—

The power of a lens is measured in :
(A) SRR #/dioptre
(B) S #/aeon
(C) <A #/lumen
(D) @<l #/candela
[MPPSC (91.) g¥et, (W1.31.) 2017]

1. (A) o 31 TICTHR S AT Th MNATHR

T HN AT s Bl G
YRSR(PG UG 3qdcid HIETH & Sl
¥RT B I B B | YE GG A
THR P BT 590 A9 AR
gaqel o | fHdl o 6 Bied
R BT YehH SHDb! AT BBl
¥ &1 BT AIFG SR B B 1
AR BIHd A dlel o DI &
1 SRITeR PEAR ¢ |

2. F=feRad & & PH-) U ST ) SIS

TP
Which one of the following is not the
unit of heat ?
(A) PRI/ calorie
(B) fdheiropeirY/kilocalorie
(C) fopeirsget/kilojoule
(D) drc/watt
[MPPSC (91.) Tien, (1.31.) 2016]

Hifcd fasm=

1. b0 SeoiaTST gRT fobebe b ¥ ol AR

R & FHTA S TR Gl & | FO
RGP & TR T8 ¥ W 81"
B & fore 9 B B, Fifh—

A batsman hits a cricket ball which then
rolls on a level ground. After covering
a short distance, the ball comes to rest.
The ball slows to a stop because :

(A) oS 9 A DI YA YN W
f&c =&l fdar/the batsman did not
hit the ball hard enough

(B) o, 3& TR T T g1 & FHG-
I B/ velocity is proportional to
the force exerted on the ball

(C) T R Ty A e & el v
g BRI BY & B/there is a force
on the ball opposing the motion

(D) & W Pl AT It PRI Tl
¥, ord: g faxmaRen # o & forg
YIRRT ©/there is no unbalanced
force on the ball, so the ball would
try to come to rest

[MPPSC (91.) 9¥e, (J1.81.) 2017]

1. (C) fH JeorarsT gRT fhde ol g @

HARA TR I FHel S IR gl
B BB IR JeP B I ] oD
IR & 1718 B & forg Rl B 8,
i g TR IR T e & fRada
T g1 PRI HR & B & |

1. WEHET ¥ fagd—graeg a3 B g

RoTedY G o ey B—

Microwaves are electromagnetic waves
having frequencies in range of :

(A) 300 faiecsi—3 FMmecst/300 KHz - 3
MHz

(B) 3¥MECSI-300 FMEeS1/3 MHz - 300
MHz

(C) 177 aé’a\ —3007T7 géa\ /1 GHz - 300
GHz

(D) 300 FTEET—-400 RTEET/300 GHz
- 400 THz

[MPPSC 2021 9U=- (25-07-2021)]

1. (C) #izaa 3 fag@ g a3 ©

e emgfii 1GHz ¥ 300 GHz
Pl T H Bl 8 |
3O IR <& 1 R | 25
TEPHER © § B B
I I R H G 99 H 7ES
B B |
ITAReT TN §7 AR BT STIRT
URT Pl STBTEIR BF AT Bl
FaiRa B & forw 1 axa & |

1. 9T BT S D A T E P

What is the audible range (hearing range)
of humans ?

s ey IR
$h 3feal T b AT HeAN, P, Td ol

fpell HAR! Ta el S AHS 1. AT (Ao a@e) & 981 & 3T 0

(A) 20 BCS-20000 BEST/20 Hz-20000
Hz

(B) 80 B&Si-100 B€s1/80 Hz-100Hz

B1 N YA fopam STl &, e are
9IfeR (TTaR) BT AP & |

3. THEEeR’ & fEfeRad |7 & faar

A9 o e § ?
Which of the following is measured by
‘Anemometer’ ?

(A) UM & g8 & 7RI/ Velocity of

water-flow
(B) 9T @I TextE/Depth of water
(C) 9a9 I/Force of the wind
(D) YT &1 et/ Intensity of light
[MPPSC (91.) wiem, (|1.31.) 2012]

3. (C) ‘T’ T 9a= & O &l A9

e ST B |

T FEA &, FAID THH ARG A
# Bl B—

Lightning can even burn a tree because
it contains tremendous amount of :

(A) =51T SHuil/heat energy

(B) fa=ra Suif/electric energy

(C) TRIfA® St /chemical energy

(D) ¥R ot /nuclear energy
[MPPSC (91.) 9¥et, (|1.81.) 2017]

1. (B) afed (et =wem) & ga1 § o

ol T bl & i S STAeh
A ¥ faga ot 2 ¥ A
JfqaT BRI fIsiell agHser H
TAega ammaer o1 TRl SR SER
S HSDHYES Pl DHaT Il & |

(C) 2 &g &cui-4 I &cut/2 lac Hz-4
lac Hz

(D) 0 B&S-20 &S51/0 Hz-20 Hz
[MPPSC (91.) u¥em, (¥1.31.) 2018]

1. (A) 20 ¥ 20000 &St & &g DI IR

Il & B A TR Ped o
AMa #7 TEN B G qhal
TE AL B ST D AT BN B |
&y T srgaed TR B © | 3/
SRy avgell # HF B9 9 B
&1 €8sy BT 10db BN =T e B
| A4 B A T&a Fhd & |
A9 @ @ (FIR) B TR Ta
e ARSI 70 % 85 db Bl

NITHN &g+ | 55



B AT 20 BCO W FH (345A) fedige N & e & qhe 71 & 5. 9FMIcy  — AT B IRR B
Td 20000 BSS1 & 37H I € P TBTRI I IART BRI & | 3 T fapeq T
TE G Fhll | IRA F BRI & H pren wAfie 1 T & 6. T — AT DI BT
YT XX b1 T 40-45 SISl 3 10 T o
FAAE T AT T 37 ST [ g S R
2. @ TN & qIH NG T BT B 1. YR SRR F BH/ &9 AT By which the intensity of earthquake is
Sound waves travel fastest in : /AT E ? measured ?

(A) 3 H/solids (B) & #/liquids
(C) 9 #/gases (D) fald /vacuum
[MPPSC (91.) wiem, (|1.31.) 2017]

2. (A) & TH YBR B il & fordat

SR FEIAN TGS | B
g 5l avg # 20 FF/Ads |
20,000 B/ S Th ST~ B
el @ B AT D W B
g1 GHd | @ B T o |
| 3If¥ep, Sal W SE A G I
A [ FH BT B, FAMb A4 D
Jor H O wa HdreT faviy wgd
31 R B

1. 999 &1 3@ # foel a=g &1 gfafeg

T B—
In human eyes, the image of an object
is formed on :

(A) BT 7/cornea
(B) uRaiRer (3msfR¥) #/iris
(C) et #/pupil

(D) gfteyeet (IFS) #/retina
[MPPSC (W1.) utem, (J1.31.) 2017]

1. (D) 50 9g &1 T arell YhmeT vy

PIfT TN TG A ok & T
o W IR g3 T Bk & aer
3 AR BIPR P S A
Bl g8 e R usdr §1 e

2. (C) IA

The liquid/liquids used in simple
barometer is /are :

(A) STet/water
(B) URI/mercury
(C) vc@raEret/alcohol
(D) I FH/All of these
[MPPSC (91.) g¥et, (W1.31.) 2016]

1. (B) SRMIeX I3 gRT IS G Bl

AT ST & | TEROT SRR 3 IR
BT YA T Il &, ifehet faes/
3= SRAER H &aT TG 9T 6T TN
o fopar e 31

2. ‘BHIeR B ST fe e H f

ST ® ?

‘Fathometer’ is used to measure :

(A) ‘Jfb;EI/ Earthquakes

(B) d§i/Rainfall

(C) 99 @1 TexTg/Ocean Depth

(D) & dar/Sound Intensity
[MPPSC (91.) a¥etm, (J1.81.) 2015]

GIEEEICE]

BN — S B TERTE

RERTe — e @1 e

(A T
BISGMIC  — Sl BT ATUTETD EFied
Rl —aged
ARMIER — QP AUEH B
ELll — JaMIeR/wffdsiiey
(7 1)

(A) SRIeR/Barometer
(B) TSEMIER/Hydrometer
(C) Ui/ Polygraph
(D) RIRI/Seismograph
[MPPSC (91.) 9<¥e, (J1.31.) 2015]

4. (D) P P TAGAT B FHFIAT]

(RISITIT®) EIRT |97 ST &1 39 &
Reiiier A e €, aRad A 39D
ERT HHU TR 1 ReprS A1 g
S 8| U TR ERT g
IR il 1 STl FRaoT Bl & |

5. ASERGY BTy fEfaled § 9

forare! aregg B ¥ far Sar e ?

Microscope is used for the study of
which of the following ?

(A) T B TFGY/Distant objects
(B) U & I¥GY/Nearby objects
(C) B aRI¢/Small Objects

(D) §&4 TT I B I¥JY/Micro and
Nearby objects
[MPPSC (91.) afien, (W1.31.) 2015]

5. (D) 5 e awgell a1 <ol @1 &84 T

Il A & T Wb & S BH
GGG CLEIR T LICI A ECI bl
(ATSHIERIY) HI Aag | 9 T
2| qeuedl B e gEd ST
AERITS B AP DI cael
= 1620 ¥ foar o |

ey Mo — et 7 A S s | L Refy , PN

3. 39 & T Pl [HHD ERT A Sl &7

3feraT gftcyed R a%g P Seal U9
EUSIEEACINISISICRCI R

2. = d Q@ o= Wi TR R P

Which is not a primary colour from the
followings ?

(A) Frl/Black (B) Tell/Blue
(C) @mei/Red (D) B0/Green
[MPPSC (91.) u¥em, (W1.31.) 2015]

2. (A) BRI 3 9 o A1 D T B

E—(1) et (2) BT (3) el | 37 0
Pl e ¥ faire < (drerr, Foien)
1 THT0T B bl & | Wi T9 fy
A T & SIS D T TR I TP
T ped & | T Wi <A v |

56 | AGRAWAL =XAMCART

3.(A) ¥

By which instrument the density of milk
is measured ?

(A) TraerMIeR/Lactometer

(B) TRgHIER/ Hydrometer
(C) SRr¥ex/Barometer

(D) TSUMIEY/Hygrometer

[MPPSC (91.) g¥et, (|1.31.) 2015]
HI9Dh B
1. TTFeHIcR — §Y &1 SIUfarD B
2. TSSMIER — AT Pl 3MMUfere T+
3. RMe — g™
4. TIUMIC — 3MTekan

Tefead ® ?
‘Statics’ is related to which one of the
following ?

(A) i Refd/State of motion

(B) fasma @1 Refi/State of rest

(C) A% Rexfa/State of mind

(D) *ffwel BT 31eua/Study of data
[MPPSC (91.) 9<¥e, (J1.31.) 2012]

1. (B) <frdh a Reifd frsm wife

I8 T & e Wi ageli i
T JAl TG SMEO B SuRART
A 9% WIfde Aged (sm &
Rerfd) 1 srez fbar S &1

ad




STEATY

2 =1 vg <vTHog =T

1. & i1 @ = R 9 & €9 @l 3R
3SR B I AR W A 49

mw%,aﬂﬁm%wm%l

& =1 1w @ |

The difference between the denomiantor
and the numerator of a fraction is 3. If
the denominator as well as the numera-
tor is increased by 4, then fraction be-

4
comes ¢ Find the original fraction.
A) 7/10 (B) 5/8
(©) 811 (D) 10/13

[MPPSC C-SAT 2021 YU=-11 (25-07-
2021)]

. (C) w1 =1 &1 37T x B
dq9, W =x+3
YN,

x+4
x+3+4

W |

x+4 4

x+7 5
Sx+4)=4(x+7)
5x+20=4x+ 28
5x—4x=28 -20

x=8

ﬂgflﬁl*_r{=]—

. 3%x0.3%0.03 x 0.003 x 30 B AN BM—
What would be the value of 3 x 0.3 x
0.03 % 0.003 x 30?7
(A) 0.0000243
(B) 0.000243
(C)0.00243
(D) 0.0243

8
1

[MPPSC (1) wer, (C-SAT) 12-01-2020]

2. (C) 3 x0.3x0.03 x0.003 x 30
3 3x3%x3x3x30

~ 10x100x1000
=0.00243

3. 99 = I - 5—
1+

AGRAWAL =XAMCART

3. (B) &9® = 5-

Find the value of 5— >
—
1
3+ I
2+ 1
A hd B ?
o3 40

[MPPSC (W1.) UR1eT, (C-SAT) 2015]

5

1+

I
w
I

T 19 40
I+ —
31

200-155 45 9

40 40 8

4. U g 480 fHE TN wRal &1 98

U T AT Bl 2/3 eI e 9, 1/5
o o ¥ AR A T @ TR
T BT B | T GIRT 6T T AT e
fei g ?

A man travels 480 kms. He covers two-
thirds of this distance by train, one-fifth

by bus and remaining by texi. What is
the distance travelled by taxi ?

(A) 44 f /44 km.
(B) 54 f& /54 km.
(C) 64 f /64 km.
(D) 74 f& /74 km.
[MPPSC (W1.) UR1eT, (C-SAT) 2014]

4. (C) A T B T3 A = 480 T i

e BN 1 B TE

= @MSO) = 320 fom

I R 99 6 TE g4
=Gx480jﬁ;m.=%ﬁ;¢r

SR BRI B E @
= (480-320-96) fHHr
(480-416) fH

64 o

5. T 9 ¥ B0 T 2/3 9 B R

Which one of the following fractions is
less than 2/3 ?

(A) 7/12 (B) 11/18
(C) 9/15 (D) 17/24
[MPPSC (W1.) a@T, (C-SAT) 2014]

2
(D) 9= 3 =0.666

11

o = 0.61

.
5 =038 g

2*060 1—77071
15 24

217

A g;a I BIE T

. U iR a9 el N B 1/4 e

Ther ¥, 3/8 few BR W SR STl
T 48 fFH 99 ¥ T AT B | SHSD
&1 0 B T FoT 0 B-

A man travels 1/4th part by scooter, 3/

8th by car and the rest 48 kms At by Bus
of the total travel. The total distance

covered by him is :

(A) 148 f&91/148 km
(B) 168 f&¥1/168 km
(C) 127 f&1/127 km
(D) 128 f#1/128 km

[MPPSC (W1.) 9i&T, (C-SAT) 2013]
6. (D) ¥ <Al gR1 99 &6 TS
T 7 = x fol

1
e W TG =

IR Y T R =§x



A T F T T = 48 A A 036364 9. (2‘1](2_3](2_%

EESININS 3 5 7] e
x—[%+3§sz48 15 932609 27%) N
46 999 ) 1A
S5x
= x-g =48 33 0.33673 : 3\ 5
8
98 The value of (2*5)(2*512*;)
X g Is I
:> —_—=
8 eﬁ:ﬁqr—rr%wmgé?ﬁq%l z_ﬁ)
sxg e e 999
D & fee E3 2 et 9
8. 52®1 = feewl, 99 - 5 1001
o et g0 128 A ¥ 4 3 (A) 500 (B) ——
oo & 77 999 3
- 3 1001 1001
7. P A & @ e 139 9 w0 By how much is > th of 52 lesser than (€) —o D) ——
. . .. . 4 999 3
Which one of the following fractions is
less than 1/3 2 2 [MPPSC (W1.) Wi, (¥1.31.) 2012]
S rdof99? .
3 9. (D) FdIh
A 53 ® 7 (A) 27 (B)33 . 3 s o
15 33 (©)39 (D) 29 - [Z_EJ[2_§][2_7] """" [Z_WJ
C) — D) — MPPSC (91.) aiem, (¥1.81.) 2012
© %6 () o8 I (1) ( ) l 5.7.9, 999 x 2 — 997
MPPSC (W1.) T8¢, (C-SAT) 2013 3 3 = XN e 999
I (s1) ( VB A 2@ L =520 =39 797 2EY
1
7.(C) 5=033333 , , _ %(19987997)
TAIUBR, 99 FH = =99 x= =66
22 20.34921 _
63 arie TR = (66 — 39) = 27 3

ud

T | 5



ST

1

1. gB 1R Ry MU ¥, Riear s 1, 2, 3,
4,5 3R 6 ¥ fufga o ¥ | Aw=sii &
I9 ¥ B U A, (P |1eid SRl
¥R M & fo1g 31eRi P1 gaRerd fn
ST | |

Some letters are given which are
numbered 1, 2, 3, 4, 5 and 6. Find the
combination of numbers so that the

letters are arranged according to form a
meaningful English word.

1 2 3 4 5 6

O N W R E D

(A) 321456 (B) 231456

(C) 312654 (D) 314265

[MPPSC C-SAT 2021 YuR-II (25-07-
2021)]

. (C) eI & IR B TR
"WONDER' S5 ST |hall & |
31 W S & 312654
. A fag &1 qufAren & f5w oreR 9
AT AIMRY ?
Which alphabet letter should replace the
question mark ?

(A) O (B) K

(©) H (D) E

[MPPSC C-SAT 2021 Yu=-1I (25-07-
2021)]

2. (B) MBI 1 :

N T
+2Q ')+2
P R
~— 7
2

P 2 :

v

ST IUTHTAT Y IT0T

A 3 :
GI2yM
P

+2
®z1

A¥ MTF e ford o0 & &R 7% QA
ERT W N I P& D @lell Sl d 79
fegr 9g 999 M & 91 7 8, 41
Ffeed geei & SR AR |

If letters from A to M were written, leaving
space for one letter between every two letters
and then the remaining letters were inserted

beginning with N and ending the series with Z
after M, answer the following questions.

[MPPSC (91.) 9efl, (C-SAT) 2016]
3.9 o 9§ 9ad ofeR & il &’

TRT 31ER BIT—

Which letter would be third to the right of
the seventh letter from the left ?

A) C (B) O
© R (D) S

4. D9 Ko fdegel 7eg B &R BT
Which letter will be exactly between D

and K ?
(A) S BT
(GY% (D) W

5. g% 9 189 31ER SR 3/d 9§ 157 7R
& fooga weg a1 FeR BM—
Which letter  would be exactly in the

middle of the 18th letter from the beginning
and the 15th letter from the

end ?
(A) G (B) H
©) 7 D)L

T G 39 5P T -
ANBUCPDQERFSGT
HUIVIWKXLYMZ

3. (C) 91 IR | 74df @18k =D
ed: D& SRl SR NI 816k = R

4. (B) TN ¥ W< &, DI K& fega

77 T Bl

5. (B) U™ ¥ 1871 31&R = V

ST 1597 878X = S
3 ST VD HeY o &R = H

6. I Bl & AW @ &R DI A AU

S T G AT 8, UgATT fb 98 PiF—a
Bel &, N faafda ¢ 999 aifde B

Letters showing the names of some fruits
have been rearranged. Identify the fruit
which has the highest Vitamin C content.

(A) RNEGOA (B) GAONM
(C) VAGAU (D) PELAP
[MPPSC (91.) 9811, (C-SAT) 2014]

6. (A) f&u U I S1&RT A BeT B By H

fomgs o)

RNEGOA — ORANGE
GAONM — MANGO

VAGAU — GUAVA

PELAP — APPLE

39 YR ORANGE # 999 S1a]

faafE ¢ 8. Bl

7. If¢ '@ POWERFUL & &1&RT &l 59

%9 H g R WY 59 E A 9
SN gufaranr & o B, a1 3™
g g & UeEN fHaq ofeRl @l
Reafq smRafia & m?

If the letters in the word POWERFUL
are rearranged as they appear in the

English alphabet, then the position of
how many letters will remain unchanged

after the rearrangement ?
(A) ¥9/None (B) U®/One
(C) ]1/Two (D) W/ Three

[MPPSC (91.) ufte, (|1.31.) 2012]

7. (B) f&an o vk

P OWE R FJ[U|L
E F L O P RJ|UW
qUHTT & HH H Ao WX

HId Th X U BT AT
aRafid =l

ad

dEAR | 1



) w1 &1 A

|@3

1. gg I B
(A) daTIHT (B) ar i
(C) et (D) arfesfds

[MPPSC (91.) Uet1, (C-SAT) 2016]

1. (B) gg I qre s B

2. I A e & HE wrew =TI T
(A) Isoda (B) Ssisdal
(C) Sovaa (D) SouTeat

wafer

[MPPSC (1.) 991, (C-SAT) 2015]

2. (C) T 1 gfie 9§ W8l T Sewdd

foram &1 Ay o1 ad T AT SRy

Fed &1 g8 ‘f&wa’ (Spelling) 9
FHEATH B |

1. FHENT T | DI |AfY ®?
(A) TR |y
(B) <o <y
(C) fawet afy
(D) SUPeT # & Bl A&
[MPPSC (91.) 9&f1, (C-SAT) 2016]
1. (C) #¥R—ANT = #: + AN o9 faat &
TEd & WX B X gIg A W
o A1 fOT o W H 98a oI

T o AR H fat |ty ¥
2. AR Te § - A 27
(A) R |y
(B) < <fey
(C) fawt afy
(D) ST & B T8
[MPPSC (W1.) 9, (C-SAT) 2015]
2. (C) ‘AHIex’ vreg # ot Afyr ¥ fawst
P WY WR AT I B WA | S

Bl Al et & geer ‘o oMy iR
IS 9% ol a7 @1 ik, agd
I qE| U MG AT F, %, A, 9, B
3T, A Rt & 9 @ A SR
Ig 'S’ qaad S q AP Ul
| gRT AN B W § 9 -
TR = A9 + &R, TR = T +
g

TS I7 qIRI BT SirSdl §—
(A) gEa (B) HISTH
(C) fowmfeaias (D) foman
[MPPSC (91.) Uet1, (C-SAT) 2020]
1. (B) §INI% U VAT ¥E& & O WA,
qIETeN, @S 7 I Bl ST & |
2. “PIg M T RGN BI AET HOFIAH
&g |
(A) SrfeTgarEd (B) WRHATEG®
(C) wHarEd (D) Feggaras

[MPPSC (W1.) T&f1, (C-SAT) 2016]
2. (AT IfeaYaEs Gd A ¥,
i TP B Pls [HR@Ed Fbd

& et <& B

3. 39 % B 9@, F8 foh STarm Bl

IR A I B YHR TR
(A) g9 drach (B) ey ara®
(C) egg a/ad (D) =Y I1ad
[MPPSC (W1.) g&ll, (C-SAT) 2015]
3. (B) 39 9199 W fvowarEs waAm B
o | 9§ 991 & T A T

& el avg & Feag & Ay B
SN — I8, 98|
4. AR’ 5 YBR & 3 87
(A) Wgaras  (B) STfadrad
(C) waara® (D) JAfdaaras
[MPPSC (W1.) 99T, (C-SAT) 2014]
4. (B) 'diex’ wiifarad |sh & | 9 ok
¥ TH A G B oSG IwGa,
Sl BT e B, SN SHfarad e
FEd T

1. f=forRea # g w9 &
(A) JARTHG (B) <ot
(C) wurfager (D) GarER
[MPPSC (91.) Uet1, (C-SAT) 2016]
1. (C) 919 < ¥eal H 3R B A9 Bam & o
I g5 9N B

2. faeifeRa 7 fe] we &—
(A) wrameaT (B) w®el

(C) sy (D) agHH
[MPPSC (W1.) T&fT, (C-SAT) 2015]
2. (A) Ty’ # T wHe ¥ e A
Yl BT TR | T FHEIRT T

H g4 U% HAmErEd R @ SR
e 9% 9a ¥ e B A @,
IU fay 999 FEd € SR g=ad
=gt 921 B FARR, e = A=
Ha1 P AHER |



qrad : 3,

, Y91, 9e9y vq R =g

1. F=feRad 5 4 dH—1  arsned®’ arag
g?
(A) J¥ 1 g =fey
(B) 3if¥e qRcTas emiall
(C) g1 BT 31 YT TRod &
(D) TR IR ST 91y
[MPPSC (91.) get, (C-SAT) 2014]

1. (B) ‘ersnef® areg’ § 91y ®lG R
S /T o™ <1 &1 9 & |
i OACIER I IR L R C G I
Tsefd ARy BT 918 DN E B
2. T W DE-N1 91 AEdED B 7
(A) TSR REQR 7 & &
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(D) <RI TR AR W Y& §
[MPPSC (W1.) 9&T1, (C-SAT) 2014]
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99 9B Tde a1 S B
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[MPPSC (W1.) 9&T, (C-SAT) 2014]
1. (C) ‘3™’ & 9T&l IR B AFHE
Ped &1 T8 399 & 918 S B

It 91a B | I B Al g
¥ et e, difus, dfad
anfe enfier &1

1. =faRed # & 98 Hu Fa1 27
(A) ST A B ©
(B) et s B T
(C) STl | B ©

(D) STl PTE B T8l &
[MPPSC (91.) Uet1, (C-SAT) 2014]
1. (A) ‘Scra’ HId B8 & | WIS Bal
# AT @ TUET @ S g |

N e &1 sfoerd

‘STl B fas Ao A (YoM,
J) 15 AE¢ 9 99 ) (7
AT =ged) # 13 A= Bk B
BT S I HIE B |
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[MPPSC (91.) Tien, (C-SAT) 2016]
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English

: y
Noun

1. A, animal is one that is active
primarily during the twilight period.
(A) Crepuscular
(B) Diurnal
(C) Nocturnal

(D) Auroral
[MPPSC C-SAT 2021 Y9R=-II (25-07-2021)]
1. (A) Crepuscular (FEATHICIT AHIET)

2. Which of the following options is correct?
(A) Mihika bought dozen eggs.

Verb & Modals

(B) Mihika bought the dozen eggs.
(C) Mihika bought a dozen eggs.

(D) Mihika bought an dozen eggs.
[MPPSC C-SAT 2021 YUR-II (25-07-2021)]
2. (A) Mihika bought dozen eggs.

1. Fill in the blank with correct option.
A snake................ on the ground.

(A) walks (B) slide

1. (A) R & 4 walks &1 TN Sfed
Bl

(C) slithers
[MPPSC C-SAT 2021 Yu=-I (25-07-2021)]

(D) move

1. Find the correct answer for 'How much
are these mangoes ?'
(A) One kilo of twenty five rupees
(B) Twenty five rupees a kilo
(C) One kilo in twenty five rupees

Adjective
(D) One kilo on twenty five rupees

[MPPSC C-SAT 2021 YR-I (25-07-2021)]
1. (A) One kilo of twenty five rupees.

(B) Each man knows his duty
(C) Many man knows his duty

(D) Any man knows his duty

[MPPSC C-SAT 2021 YW=-1I (25-07-2021)]

2. Which of'the following options is correct? .
2. (A) Every man knows his duty.

(A) Every man knows his duty

Article

1. Fill in the blank with correct article pair.
My uncle visited.............. Andaman and
Nicobar Islands and............... Kerala.
(A) the/the

[MPPSC C-SAT 2021 Y=-II (25-07-2021)]
1. (A) Rad T H the, the definite article
BT AT 81 |

(B) the/article not needed
(C) an/a

(D) article not needed/article not needed

Sentence Improvement

1. Choose the correct alternative which can
be substituted for the below underlined

phrase.

She was reading from a list that contained

almost all the known idioms and phrases

of English.
(A) Magazine

(B) Gazette

(C) Dictionary
(D) Glossary

[MPPSC C-SAT 2021 YU=-II (25-07-2021)]
1. (A) Magazine

Synonyms

1. The correct synonym for 'Slumber’ is :
(A) Sleep (B) Shiny
(C) Steer (D) Seller
[MPPSC C-SAT 2021 Yu=-II (25-07-2021)]

(C) Activity
(D) Spirit
[MPPSC C-SAT 2021 YOR-11 (25-07-2021)]
2. (A) Lethargy (§&M) one one B |

1. (A) ¥s% Slumber BT TIfFaTET %’—Sleep I

2. Of the words given below, three are syn-
onyms. Choose the odd one out.

(A) Lethargy
(B) Energy

Idioms & Phrases/Proverbs

1. Choose correct meaning of the Idiom

‘Spin a yarn’.
(A) Do weaving work

(B) Be a cunning craftsman
(C) Stay silent

(D) Tell a long and far-fetched story
[MPPSC C-SAT 2021 YUR-II (25-07-2021)]
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1. (A) Spina yarn &l 81f —Do weaving
work

2. Fill in the blank with correct option.

Arun became............. after the robbery.
(A) death broke

(B) deadly broken

(C) break dead

(D) dead broke
[MPPSC C-SAT 2021 UtR-II (25-07-2021)]
2. (A) Raa T # death break &1 YT
BT |

One Word Substitution

1. A person who talks in sleep is called as :
(A) Philatelist

(B) Somnambulist

(C) Somniloquist

(D) Oneirocritic

[MPPSC C-SAT 2021 YWR-II (25-07-2021)]

1. (A) AR HHE A person who talks
in sleep is called as & T &I one
word &—Philatelis

1. Choose the sentence with correct punctua-
tion.
(A) What would you like to have for
Breakfast.

(B) What would you like to have for

Breakfast.

(C) What would you like to have for

Breakfast?

(D) What would you like, to have for

Breakfast ?
[MPPSC C-SAT 2021 Y=-II (25-07-2021)]
1. (A) What would you like to have for
Breakfast.

Figures of Speech

1. The metaphor "emotional bank account"
refers to :
(A) The amount of trust that has been
built up in a relationship

(B) The amount of emotions one has
(C) An account with emotional bank
(D) None of the above

[MPPSC C-SAT 2021 YuR-II (25-07-2021)]
1. (A) The amount of trust that has been
built up in relationship.

Comprehension

FfRad orarer &1 ufed iR o/ # fav Tu
e & SR Qo | GEAT & SR AT IR
emRa B =Ry |

Read the following excerpt and answer the
questions asked at the end. The answers to
the questions should be based on the excerpt.
I, I gedl & |aAE b AW ASHS
YIIeTT T 3ATAROT HRAT &, T & I Ffaera
A A AN AE E| TOIRRR, SMEE—ag Al
I G ¥ 9] ST U BT DT B
F 918, BaA UH URRIA B 94 A A BA
T 1 I A SUHRT & fIY Suerey ¥
TR A AT ol B B fTY TgyuT, S
Jhg AR el Ri=rs el &1 AEM §
T T DN ARA Ferd B SR, A =™
Ao 9T & el IR &1 BRAT Yo PR <l |
gRUTHRET, G A Il e B T &
T SRR, T ST I & A 31y e
ba1 o |

Although water covers approximately sixty
seven percent of the Earth's surface, of
this less than three percent is fresh water.
Accounting for fresh water locked in glaciers,
ice-caps or otherwise inaccessible, less than
a tenth of a percent of the Earth's water is
available for human consumption. Pollution,
population growth and wasteful irrigation
practices are contributing to a worldwide
water shortage. When the clear precious
liquid becomes scarce, countries begin to

2 | AGRAWAL =XAMCART

assert claims on fresh water supplies. As a
result, drinkable water has become a region of
conflict that could eventually lead to greater
hostilities between nations.

O R oI FYIA G (FATSSS 794) H T
S TR A1 & | 3 <=M A, O 5 I, a
TEAT | PH & | S-S ST FT1E "t
SIRAT, Suetee Ardl & fore uforaef 9 | =T
TS UH & TP faR e & SfEeRT 6
IME1 FR T © 1 9 Al W S AR 3
RaSTIeT @ ffor Y AT S Had
I |7 AT AP I ST AfRBRT AT FHATOT
IR TR SREAd BN &, A1 THE B
Reifty A9 o ol ¢ 1 39 e 9 fFues &

o % < TeT WA SR GRE FHIEH
T X2 T WY I T W |9 g
9 &4 &1 |9 &, B el B D
fore wrRigw @] fore B

Some countries such as the United States,
have ample sources of water. In other nations,
such as China, water is less plentiful. As water
resources dwindle, competition for available
sources will rise. Nations may claim rights
to a particular body of fresh water or they
may plan to build dams and other projects
on rivers. If two or more nations which
disagree on water rights or building projects,
conflicts can emerge. In order to combat this
issue many countries are adopting water
conservation and security solutions. The
United Nations has implemented programs
to combat potential issues that could lead

to violence.
[MPPSC C-SAT 2021 YUR-11 (25-07-2021)]

1. S99 G BT &I AR FT ?
What is the main focus of this passage ?
(A) TN T HRETT PRAT FET & FAMB
94T IR Bael 3% T 4 ARG &

It is important to conserve water
because only 3% of the water on
earth is drinkable

(B) 8 A1l 5TeT a1 A R &
foTT spiReT & 1T gg HXM |

China will fight with America for
controlling fresh water sources

(C) SgTETaR oo 9T TRRRI &R
EE—PY ¥ ¥ 5
Most fresh water is locked in glaciers
and ice-caps

(D) TF B T R T A e B
TG BT |
Water is limited and shortages will
likely lead to conflicts

1. (D) WRIA TR H & AR &I

AT & 3R HA e B qe AT
B |

2. &l & | B a1 IRRid aml, /a
JUHNT & foTY Sueredl & P

What percent of surface of earth covered
with water, is available for human
consumption ?



(A) 0.1% (B) 0.001%

(C) 0.67 (D) 0.067%

. (A) g @1 |8 BT 0.1% 9 A
SUHRT & fTT SueTed & |

. FfaRea § & PH- vfas | N B
g T B GHIIT BRT B HAT & ?
Which of'the following could be probable

reason for hostility among nations in

future ?

(A) I8 921 f5 oMRe & T UMl &
TR 9
The fact that America has ample
sources of water

(B) wfIsg # ot U+ & Al U S9ET |
Assertion of claims on fresh water
supplies in future

(C) A o I B AT TR STAaR BRI
Hfh 3P INT IWRBT H B A
Bl

China intends to claim on fresh water
sources as it has less sources than
America

(D) faftr=1 <=l A AR & SRFAaT |
In-equilibrium of arms among
various nations

TG & I ST BT AFATAT BIROT
B qHd ¢ |

4. 77 9 3 -1 FREd & orarer 3 ey

T2l fyaprer S e & ?

Which of the following may definitely

not be concluded from the passage ?

(A) T FHIGTRA BT BT BB BHIA
3% T B AP & R SueTed B

Upto about three percent of water
may be for human consumption by
accounting all possibility.

(B) F9 97% THI AT B SUART B
for Sugad 8 ¥

About 97% of water is unusable for

human consumption.

(C) UMl & Srguetsya [l <= & drar
BRI P 3Gl B DI B1G L PR
Eal
Water crisis may trigger an arms race
among nations in future.

(D) HHET: I T FJHAE <2 & e
T I Reafy YaT |

Water crisis may possibly end up in

creating a hostile relationship among

4. (C) faved (C) H 9gad PHE UMl
@I rgueteydl faf=T < & 9=
B M|

5. 9 H I B 9GS <o B oy
DH-T SUT AfePh AT BT 7
‘What would be the most effective solution

to avoid future conflicts among the
nations ?

(A) I ERERT BT € B I AMMRY

To destroy all weapons

(B) UMl & AYBR B ol RN Bl
1Y |
To sign pacts on water rights

(C) T ST ARET HRAT AT |
To conserve water

(D) Hg& R (FASCS =¥) Bl S
el @ fRIERe @ ford erftre
YL I AT |

To make United nations a more ef-
fective body in handling these issues

5. (C) afx S o1 91 ¥ Afw IS¢ oA
AfreRT a1 Tt aResETel 7=
T BT &, 1 e ot fRerfay Yar
BN | o1 U ey | 99 & forg

countries.

3. (B) Hfasg # 1ol U & ST R ST9&R IR BT HRET AT AR |

Miscellaneous

1. Choose the prefix that should be added to
the word 'Legible' to form its antonym.

4. The document that is used to communi-
cate within the organization is called :

[MPPSC C-SAT 2021 YuR-I (25-07-2021)]
2. (A) Fish &1 991 Sfad |

(A) fhs (B) %ms 3 e listening is also called as criti- (A) Letter

(©) in (D) il cal listening. (B) Memo

[MPPSC C-SAT 2021 UR-11 (25-07-2021)] (A) Therapeutic (C) E-mail
1. (A) Dislegible Ug~ Irg & | (B) Discriminative (D) Telex

[MPPSC C-SAT 2021 YUR-II (25-07-2021)]
4. (B) WTed & WOX HaAK BRA B forW

2. Fill in the blank with correct collective (C) Empathetic
noun. (D) Evaluative

A school of ........cccue. .
(A) Fish (B) Tiger [MPPSC C-SAT 2021 YR-I1 (25-07-2021)] memo FM® document HT AT
(C) BOyS (D) Cubs 3. (A) Therapeutic (ﬁ'ﬁf\'ﬂ'ﬂ) m NIl %l

aa
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